

$$u'' + 2u' + 2u = e^t \sin t$$

EQ. IN  $\mathbb{C}$

$$\begin{cases} e^{i\delta} = \cos \delta + i \sin \delta & \sin \delta = \operatorname{Im}(e^{i\delta}) \\ \leadsto e^{\delta} \sin \delta = \operatorname{Im}(e^{\delta} \cdot e^{i\delta}) = \operatorname{Im}(e^{(1+i)\delta}) \end{cases}$$

CONSIDERIAMO  $z \in \mathbb{C}$  s.c.  $\mu = \operatorname{Im}(z)$

$$\leadsto \ddot{z} + 2\dot{z} + 2z = e^{(1+i)\delta}$$

$$\begin{aligned} p(s) = s^2 + 2s + 2 \quad p(1+i) &= (1+i)^2 + 2(1+i) + 2 = \\ &= \cancel{1} - \cancel{1} + 2i + 2 + 2i + 2 = 4 + 4i \end{aligned}$$

$$\begin{aligned} \leadsto z &= \frac{e^{(1+i)\delta}}{p(1+i)} = \frac{e^{(1+i)\delta}}{4+4i} = \frac{\cancel{4} - \cancel{4}i}{\cancel{4}2} e^{(1+i)\delta} = \\ &= \frac{1-i}{2} e^{(1+i)\delta} \quad \text{sol. part. in } \mathbb{C} \end{aligned}$$

$$\mu = \operatorname{Im}(z) = \frac{e^{\delta}}{2} \sin \delta - \frac{e^{\delta}}{2} \cos \delta$$

SOLUZIONE PART. IN  $\mathbb{R}$

VERIFICA

$$\dot{\mu} = \frac{e^{\delta}}{2} \sin \delta - \frac{e^{\delta}}{2} \cos \delta + \frac{e^{\delta}}{2} \sin \delta + \frac{e^{\delta}}{2} \cos \delta$$

$$\ddot{\mu} = \frac{e^{\delta}}{2} \sin \delta + \frac{e^{\delta}}{2} \cos \delta$$

$$\begin{aligned} \leadsto \ddot{\mu} + 2\dot{\mu} + 2\mu &= \frac{e^{\delta}}{2} \sin \delta + \frac{e^{\delta}}{2} \cos \delta + \frac{2}{2} e^{\delta} \sin \delta + \\ &+ \frac{e^{\delta}}{2} \sin \delta - \frac{e^{\delta}}{2} \cos \delta = e^{\delta} \sin \delta \end{aligned}$$